
∑
の公式

公式 ⑴
n∑

k=1

c = nc ( cは定数 )

公式 ⑵
n∑

k=1

k = 1
2
n(n+1)

公式 ⑶
n∑

k=1

k2 = 1
6
n(n+1)(2n+1)

公式 ⑷
n∑

k=1

k3 =
(
1
2
n(n+1)

)2
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計算例

公式 ⑴
n∑

k=1

c = nc (cは定数 )

n∑
k=1

4 = 4+4+4+ · · ·+4︸ ︷︷ ︸
n 個

= 4n 答

7∑
k=1

3 = 3+3+3+3+3+3+3︸ ︷︷ ︸
7 個

= 21 答
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計算例

公式 ⑵
n∑

k=1

k = 1
2
n(n+1)

n → 8と置き換える
8∑

k=1

k = 1
2
·8 ·(8+1)

= 1
2
·8 ·9 = 36 答
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計算例

公式 ⑵
n∑

k=1

k = 1
2
n(n+1)

n → n+1と置き換える
n+1∑
k=1

k = 1
2
(n+1)

(
(n+1)+1

)
= 1

2
(n+1)(n+2) 答
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計算例

公式 ⑶
n∑

k=1

k2 = 1
6
n(n+1)(2n+1)

n → 7と置き換える
7∑

k=1

k2 = 1
6
·7 ·(7+1) ·(2 ·7+1)

= 1
6
·7 ·8 ·15 = 140 答
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計算例

公式 ⑷
n∑

k=1

k3 =
(
1
2
n(n+1)

)2

n → 10と置き換える
10∑
k=1

k3 =
(
1
2
·10 ·(10+1)

)2

=
(
1
2
·10 ·11

)2

= 552 = 3025 答
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